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QUESTION 1

Which type of record can be added to the Item Assembly Structure of a non-rotating item? 

A. Tool 

B. Meter 

C. Rotating Item 

D. Configuration Item 

Correct Answer: D 

 

QUESTION 2

Which statement is true during deployed asset data promotion? 

A. The site specified in deployed asset data is used. 

B. The site specified in the deployed asset is not used. 

C. Promotion can be performed for multiple sites at a time. 

D. Users cannot specify a value in the Site field in the Default Values section of the Promote to Assets window. 

Correct Answer: C 

 

QUESTION 3

Which application is used to create an asset from an Item Master record? 

A. Assets 

B. Item Master 

C. Asset Templates 

D. IT Asset Classifications 

Correct Answer: D 

 

QUESTION 4

What must be performed before an invoice can be approved? 

A. add line items 

B. route to Accounts Payable 
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C. activate the General Ledger account 

D. close all purchase orders associated with the invoice 

Correct Answer: A 

 

QUESTION 5

Given that multiple parent/child relationships exist in an asset hierarchy, how many parents can a child asset have? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: A 
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